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/*Yuki lida 2001-2002 All Rights Reserved. */

#include <stdio.h>
#include <math.h>

#include <float.h>

int main(void){

/*double c; /*Sound Verlocity*/

double f; /*Freaquency*/

/*double pa; /*Air Dencity*/

/*double v; /*Oscillating Amplitude*/

/*double a; /*Radius*/

double x; /*Distance between Center and Observing point on X-Lay*/
double y; /*Distance between Center and Observing point on Y-Lay*/
double ytheta; /**/

double d; /*Distance between Center and Baffle center*/

double prms1;

double prms2;

double prms; /*Pressure Value Root-Meen-Squarer (Pa)*/

double bsl1;

double bsl2; /*Function of Bessel */

double spl; /*Sound Pressure Level (dB)*/

/*double pi;*/

double k;/*Wavelength Constant*/

double agb; /*Algebra*/
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double r1; /*Algebra*/

double r2; /*Algebra*/

double n; /*Algebra*/

/*c =343 (m/s);*/

/*pa=1.18;*/

/*v =0.00001 (m);*/

/*a =0.025 (m);*/

/*pi =3.1415;*/

printf("System Set-Up OK! | start ¥n");
for (d=0.5; d<=1.6; d=d+0.5)

{for (x=0.5; x<=3.6; x=x+0.5)

{for (f= 63; f<=8100; f=f*1.26) /*f2=f1*2~N(1/3)*/
{for (n=-2; n<=2; n=n+1)

{

FILE*fp = fopen(**MaxMin.txt","a");
ytheta = (30*n)/180;

y = x*tan(ytheta);

k = (2*3.1415*)/343; /*k = (2*pi*f)/c;*/

/*Buffle 1*/

rl = sqrt((x*x)+(fabs(y-d)*fabs(y-d)));

agb = k*0.025*(fabs(y-d)/r1); /*agb = k*a*Sin(Theta);*/

bsll = 2-(agb*agh/4)+(agb*agb*agb*agh/96)-(agb*agb*agb*agb*agb*agh/4608);
/*prms = 2*((f*pa*v*pi*a*a*fabs(bsl))/r);*/

prmsl = 2*((f*1.18*0.005*3.1415*0.025*0.025*fabs(bs|1))/r1);

/*Buffle2*/

r2 = sqrt((x*x)+(fabs(y+d)*fabs(y+d)));

agb = k*0.025*(fabs(y+d)/r2); /*agb = k*a*Sin(Theta);*/

bsl2 = 2-(agb*agh/4)+(agb*agb*agb*agh/96)-(agb*agb*agb*agb*agb*agh/4608);
/*prms = 2*((f*pa*v*pi*a*a*fabs(bsl))/r);*/

prms2 = 2*((f*1.18*0.005*3.1415*0.025*0.025*fabs(bs|2))/r2);

21



prms = prmsl + prms2;

spl = 20*log(prms)+94;

printf("%*.*f %*.*f %*.*f %*.*f %*.*f %*.*f¥n",D

BL_DIG -10, DBL_DIG - 10, d, DBL_DIG -10, DBL_DIG -10, x, DBL_DIG -10, DBL_DIG -10, vy,

DBL_DIG -10, DBL_DIG -10, f, DBL_DIG -10, DBL_DIG -10, prms, DBL_DIG -10, DBL_DIG -10, spl);
fprintf(fp,"%*.*f %*.*f %*.*f %*.*f¥n",DBL_DIG -

10, DBL_DIG-10,d, DBL_DIG -10, DBL_DIG -10, x, DBL_DIG -10, DBL_DIG -10, f, DBL_DIG -10,

DBL_DIG -10, spl);

fclose (fp);

hidds

printf(*'l finished!! Thank You! ¥n");

return O;}

/*Yuki lida 2001-2002 All Rights Reserved. */

#include <stdio.h>
#include <math.h>

#include <float.h>

int main(void){

/*double c; /*Sound Verlocity*/

double f; /*Freaquency*/

/*double pa; /*Air Dencity*/

/*double v; /*Oscillating Amplitude*/

/*double a; /*Radius*/

double x; /*Distance between Center and Observing point on X-Lay*/
double y; /*Distance between Center and Observing point on Y-Lay*/
double ytheta; /**/

double d; /*Distance between Center and Baffle center*/

double prms1;

double prms2;

double prms; /*Pressure Value Root-Meen-Squarer (Pa)*/
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double bsl1;

double bsl2; /*Function of Bessel */
double spl; /*Sound Pressure Level (dB)*/
/*double pi;*/

double k;/*Wavelength Constant*/
double agb; /*Algebra*/

double r1; /*Algebra*/

double r2; /*Algebra*/

double n; /*Algebra*/

/*c =343 (m/s);*/

/*pa=1.18;*/

/*v = 0.00001 (m);*/

/*a =0.025 (m);*/

/*pi =3.1415;*/

printf("System Set-Up OK! | start ¥n");
for (d=0.5; d<=1.6; d=d+0.5)

{for (x=0.5; x<=3.6; x=x+0.5)

{ for (n=-2; n<=2; n=n+1)

{ for (f= 63; f<=8100; f=f*1.26) /*f2 = f1 * 2~(1/3)*/
{

FILE*fp = fopen("Average.txt","a");
ytheta = (30*n)/180;

y = x*tan(ytheta);

k = (2*3.1415*)/343; /*k = (2*pi*f)/c;*/

/*Buffle 1*/

rl = sqrt((x*x)+(fabs(y-d)*fabs(y-d)));

agb = k*0.025*(fabs(y-d)/rl); /*agb = k*a*Sin(Theta);*/

bsll = 2-(agb*agh/4)+(agb*agb*agb*agh/96)-(agb*agb*agb*agb*agb*agh/4608);
/*prms = 2*((f*pa*v*pi*a*a*fabs(bsl))/r);*/

prmsl = 2*((f*1.18*0.005*3.1415*0.025*0.025*fabs(bs|1))/r1);

/*Buffle2*/
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r2 = sqrt((x*x)+(fabs(y+d)*fabs(y+d)));

agb = k*0.025*(fabs(y+d)/r2); /*agb = k*a*Sin(Theta);*/

bsl2 = 2-(agb*agh/4)+(agb*agb*agb*agh/96)-(agb*agb*agb*agb*agb*agh/4608);
/*prms = 2*((f*pa*v*pi*a*a*fabs(bsl))/r);*/

prms2 = 2*((f*1.18*0.005*3.1415*0.025*0.025*fabs(bs|2))/r2);

prms = prmsl + prms2;

spl = 20*log(prms)+94;

printf("%*.*f %*.*f %*.*f %*.*f %*.*f %*.*f¥n",D

BL_DIG -10, DBL_DIG - 10, d, DBL_DIG -10, DBL_DIG -10, x, DBL_DIG -10, DBL_DIG -10, vy,

DBL_DIG -10, DBL_DIG -10, f, DBL_DIG -10, DBL_DIG -10, prms, DBL_DIG -10, DBL_DIG -10, spl);
fprintf(fp,"%*.*f %*.*f %*.*f %*.*f¥n",DBL_DIG -

10, DBL_DIG-10,d, DBL_DIG -10, DBL_DIG -10, x, DBL_DIG -10, DBL_DIG -10, f, DBL_DIG -10,

DBL_DIG -10, spl);

fclose (fp);

hidds

printf(*'l finished!! Thank You! ¥n");

return 0;}

Basic

1/44.1k
Basic
REAL Software ,Inc.
http://www.ascii.co.jp/realbasic/ REAL

Basic 2.0.2

24



— wdan

= e e ]

e I
[ TSR E oy T i |

WA
WL i
E |

e |

RS E o)
(HHFME |

LT
I.Hl'lmw:llr-l
——

| . R EE

B
g ol TR
TTIARS
E4-FAR
WL
[P

e e g 0 ]
" “ﬂm|_'_ 1.[“t.u-||| TR Q

Basic
f=1000Hz

= el

B L] I
LEE
R TR e |

W aAm
WL i
E |

e |

"”ﬁ'f'".-."-“!ﬂ_

LT
LR aa T el

B

g ol TR
i HE I F

E4-FAR

IHb FGI

.‘-.I-f--qll‘.'. I PEED .-gnp-.l | [T T e | -]
M=l T D
: .;Inn|7'_' :“-u| 4“'

f=440Hz

//
//Yuki lida 2001-2002 All Rights Reserved.
Dim Ppercent, P,Pmax, f, Pa, v, SinTheta, a, r, BsL, t, c, k, Center, X, y, Q ,agb as Double //

Dim Ppercent12, P1, P2,Pmax1, Pmax2, f, SinThetal, SinTheta2, d1, d2, d1Center, d2Center, rl,



r2,BsL1,BsL2,yl, y2, agbl, agb2 as Double //
Dim xall, yall as Integer

f = Val(EditField1.Text) // 1kHz

Pa = Val(EditField2.Text) //

v = Val(EditField3.Text) //

a = Val(EditField4.Text) // m
t = Val(EditField5.Text) // s

c = Val(EditField6.Text) // m/s

k=(2*3.1415*f)/c //
Center = Canvasl.Height /7 2

Canvasl.Graphics.forecolor=rgh(255,255,255)

Q=R2*a*f)/c 7/
EditField7.Text = Str(Q)

For yall = 1 to Canvas1.Height
For xall =1 to Canvas1l. Width

//x=0.01 * xall

//y =0.01 *yall

r=0.01 * Sgrt(xall*xall + Abs(yall - Center)*Abs(yall - Center))

SinTheta = ((0.01*Abs(yall-Center)) /r)

agb = k*a*SinTheta

BsL = 2 - ((agb*agb) /7 4) + ((agb*agb*agb*agb) / 96) - ((agb*agb*agb*agb*agb*agb) / 4608)
Pmax = ((Sgrt(2) *f*Pa*v*3.1415 *a*a) *BsL)/ r

P=Pmax* (1 + (Sin(2*3.1415*f* (t-(r/c))))) //

Ppercent = (510*P)/Pmax
Canvasl.Graphics.forecolor=rgb(Ppercent-255,0,-Ppercent+255)
Canvasl.Graphics.DrawLine xall, yall, xall, yall

Next
Next

//

Canvasl.Graphics.forecolor=rgh(100,100,100)

Canvasl.Graphics.DrawLine O, O, O, Canvasl.Height

Canvasl.Graphics.DrawLine O, Canvasl.Height / 2, Canvasl. Width, Canvasl.Height / 2

//
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Canvasl.Graphics.forecolor=rgh(100,255,100)
Canvasl.Graphics.DrawLine O, Center- 100*a, O, Center+ 100*a

// Canvas2
d1l =100 * Val(EditField8.Text)
d2 = 100 * Val(EditField9.Text) //

For yall = 1 to Canvas1.Height
For xall = 1 to Canvasl. Width

//x=0.01 * xall
//y1 =0.01 *yall
//y2 =0.01 *yall

//y1l

dl1Center = Abs(Center - d1)

rl = 0.01 * Sqrt(xall*xall + Abs(yall - d1Center)*Abs(yall - d1Center))

SinThetal = ((0.01*Abs(yall-d1Center)) /rl)

agbl = k*a*SinThetal

Bsk,1 = 2 - ((agbl*aghl) / 4) + ((agbl*agbl*agbl*agbl)
((agbl*agbl*agbl*agbl*agbl*agbl) / 4608)

Pmax1 = ((Sqrt(2) *f*Pa*v *3.1415 *a*a) *BsL1) /rl

P1=Pmaxl * (1 + (Sin(2 * 3.1415 * f * (t - (r1 / c)))))

//y2

d2Center = Abs(Center + d2)

r2 = 0.01 * Sqrt(xall*xall + Abs(yall - d2Center)*Abs(yall - d2Center))

SinTheta2 = ((0.01*Abs(yall-d2Center)) / r2)

agh2 = k*a*SinTheta2

BsL,2 = 2 - ((agb2*agh2) / 4) + ((agbh2*agb2*agb2*agb?2)
((agh2*agb2*agb2*agh2*agb2*agbh2) / 4608)

Pmax2 = ((Sqrt(2) * f*Pa*v * 3.1415 * a*a) * BsL2) / r2

P2 = Pmax2 * (1+ (Sin(2 * 3.1415 * f * (t - (r2 / ©)))))

Ppercentl2 = (510*(P1+P2))/(Pmax1+Pmax2)
Canvas2.Graphics.forecolor=rgb(Ppercent12-255,0,-Ppercent12+255)
Canvas2.Graphics.DrawLine xall, yall, xall, yall

Next
Next
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//

Canvas2.Graphics.forecolor=rgh(100,100,100)

Canvas2.Graphics.DrawLine 0, O, O, Canvasl.Height

Canvas2.Graphics.DrawLine O, Canvas2.Height / 2, Canvas2. Width, Canvas2.Height / 2

//

Canvas2.Graphics.forecolor=rgh(100,255,100)
Canvas2.Graphics.DrawLine O, d1Center- 100*a, O, d1Center+ 100*a
Canvas2.Graphics.DrawLine O, d2Center- 100*a, O, d2Center+ 100*a
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